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5.2 Logarithms
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answer = base exponent
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Solve:

5x = 25

7x  = 178
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Logarthmic Function

For x > 0, a > 0, and a≠1, 
 y = logax, if and only if x = ay

exponent = log base answer

Logarithms are exponents!
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a) log2 32 =

b) log42=

c) log31=

d) log10 (1/100)=
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Common Logarithm:  a logarithm 
function with base 10

Log 10=

Log 1/4=



8

Natural Log:  a logarithm 
function with base e

Ln e =

Ln 58=
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Properties of Logarithms
1.  loga1=0

2.  logaa=1

3.  logaax=x

4.  If logax = logay then x=y 
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a)  Solve for x:  log2x=log23

b)  Solve for x:  log44=x

c)  Simplify:  log55x

d)  Simplify:  7log
7

14
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y=ax
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Graph: 

f(x)= log2x
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Graph:  
f(x) = log4(x-3)
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Graph:  h(x) = -log6(x+2)
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Graph:  g(x) = log10(x-1) + 4
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